How many parents responded to the survey in 2005-2006 and 2006-2007, and how does
this compare to the number of students in the population each year?
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5. The following school staff treat me with courtesy and respect.
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6. The following school staff provide me with opportunities for two-way communication.
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20. My goals for my child include the following plans:
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Strongly Disagree Strongly
Disagree

13a. n=129 72 45 4 3 5
13b. n =126
13c. n =120
14a. n =125 51 40 3 11 20
14b. n=129
14c. n=129
15a. n =136 89 36 3 5 3
15b. n =125 59 43 5 3 15
15c. n=117 52 38 4 4 19
15d. n=111 50 31 4 6 20
15e. n =127 87 36 1 3 0




